
Probe
Beam

Ch. 1:  no mixer

Ch. 2
k_perp = 23 cm-1
k_para = 2 cm-1
Min dist:  5 cm

Ch. 3
k_perp = 16 cm-1
k_para = 2 cm-1
Min dist:  6 cm

Ch. 4
k_perp = 9 cm-1
k_para = 2 cm -1

Min dist:  7 cm

Ch. 5
k_perp = 3 cm-1
k_para = 1 cm-1
Min dist:  12 cm
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1 feedthru actuator
rotates mirror

2 feedthru actuators
steer launch beam

Is mapping of actuator
positions to beam

paths correct?

Can we steer beams
to intersect and

achieve k dot B=0?

Tip/tilt optical mounts
located on air side

of exit windows

Did Chs. 4 & 5 see
scattered signals?


